Maths Challenges
[image: ]
[image: ]
[image: ]
image1.png
Five identical rectangles are put together to make a large rectangle.

The width of one rectangle is 4cm. Work out the perimeter of the large
rectangle.
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15 identical blocks are lined up as shown.
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The length of each individual block is twice the width.

If all 15 blocks are then laid end to end lengthways, what is the total length of
‘the blocks altogether now?
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Liam has these three shapes.

He uses them to make different towers. He measures the height of each tower
he makes.
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